
 

 

              The Power of the Technical Indicator the TTM Squeeze 

What the TTM Squeeze is a momentum indicator that’s basically the direction that the stock is going to the downside or upside.  
Overall shows the momentum in that direction. 
A mixture of Bollinger Bands and Keltner Channels  
The 2 indicators that make up the TTM squeeze 
The Bollinger Bands and the Keltner  channels 
On the TTM Squeeze few colour dots 

Dot Colour Interpretation – What the Dots mean 

Red –   in a 
squeeze 

When the red dots come into play,  Bollinger bands curls to the inside of the Keltner Channels 

Black- Squeeze is 
opening up 

Bollinger Bands curls to the outside of the Keltner Channels. Expect a move that the squeeze is firing  

Orange (Rare) 
In a squeeze – A 
big move is 
comming  

Bollinger Bands and Keltner Channels very very tight . There is a move about to come.    Depending on the 
tight squeeze and the colour of the bars in the squeeze will give a good indication on the likely break out 
direction of the stock. When you see an orange squeeze you know there’s going to be a bigger move to 
come. 

Green – Squeeze 
has Fired 

The Squeeze is now firing 

Hollow Bars Interpretation on the momentum bars 

Light Blue 
Cyan 

Indicates Buying Momentum, Buying Pressure – Strong Buying Momentum. As bars get bigger over time you 
have buying momentum over time and vice versa. The stock starts to rise in price as the Cyan bars gets 
larger. 

Dark Blue   Buying pressure might be easing up . Buying momentum is dying down– Time to take profits. Stock price 
starts to consolidate or pulls back to the downside. When Dark blue happens stock starts to pull back. 
Shrinking Dark Blue bars means losing buyers momentum.  Options – Whenever your in a call and you see 
dark blue bars coming in from the squeeze more than likely taking the profits just after using the squeeze for 
so long . Dark Blue bars indicating a possible pull back is coming. Stock buying pressure is easing up and 
people taking their profits.     

Red Is basically indicating selling pressure. Strong selling momentum. Selling momentum increasing with the 
deeper red bars selling momentum is picking up.  More sellers than buyers. Options - When we see Red we 
know that we can go for puts or just not enter the trade. Following to take puts on the red colour wave  

Yellow Selling momentum is dying down. Selling pressure is easing up and Buyers are coming back into the market 
and steeping back in. As the yellow bars shrink selling momentum is dying down and the buyers are jumping 
back in. Not as much selling going as before. Notice as price goes back up we go from the yellow to the light 
blue.   

Cycle of momentum 
 

Light Blue Dark Blue Red Yellow 

Order 
Light Blue 
Dark Blue 

Red 
Yellow 

Light Blue 

Indicates Buying 
Momentum, 

Buying Pressure 

Buying pressure 
might be easing 

up – Time to take 
profits. When 

Dark blue 
happens stock 

starts to pull back 

Is basically 
indicating selling 
pressure.  More 

sellers than 
buyers 

Selling pressure is 
easing up and 
over Buyers 

coming back in or 
steeping in. 

    You Tube Videos on the TTM Squeeze             

https://www.youtube.com/watch?v=-VR29gW8MVE&list=PLbMi8_39eAw1MSYAtzx01Um8A2Zv0nwmb&index=1     What is 
the TTM Squeeze 
https://www.youtube.com/watch?v=aAYkDfLqGRQ&list=PLbMi8_39eAw1MSYAtzx01Um8A2Zv0nwmb&index=2    Interpreting 
the bars on TTM Squeeze 
https://www.youtube.com/watch?v=C5xWL6RYUc4&list=PLbMi8_39eAw1MSYAtzx01Um8A2Zv0nwmb&index=3  How to use 
the TTM squeeze 
https://www.youtube.com/watch?v=vkcHPZl5FGg&list=PLbMi8_39eAw1MSYAtzx01Um8A2Zv0nwmb&index=4  
Practical application- Huge profits with the TTM Squeeze 

 

https://www.youtube.com/watch?v=-VR29gW8MVE&list=PLbMi8_39eAw1MSYAtzx01Um8A2Zv0nwmb&index=1
https://www.youtube.com/watch?v=aAYkDfLqGRQ&list=PLbMi8_39eAw1MSYAtzx01Um8A2Zv0nwmb&index=2
https://www.youtube.com/watch?v=C5xWL6RYUc4&list=PLbMi8_39eAw1MSYAtzx01Um8A2Zv0nwmb&index=3
https://www.youtube.com/watch?v=vkcHPZl5FGg&list=PLbMi8_39eAw1MSYAtzx01Um8A2Zv0nwmb&index=4


 

 

 

 

 


